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1 st et A & vEd W @ wee 9fRoer o HITART IR e B o oas 8
SEAT TRTCandidates should read carefully the instructions in the Question booklet and OMR Answer
ShEEl befora start answering,

2. Sfie-erse ndes  anwfEat g Ru e ser & e o AT ofier & @0 e o oA
mmrﬁﬁmﬁw#ﬁmi‘#aﬁrtﬁw#mwaﬁﬁmmﬁﬁﬁmm
seaflar 18 &1 Il Candidates have been called for the written test based on the data furnished by
them in the on-ine application. If you have wrongly entarad in the application or you do not possess the
required qualification as per our advertisement, your candidature will be rejected  Candidalure of
candidates who do not have required qualification shall be rejectad.

3, ofen gim & Wiws & avfify & & wdy SRS # fEoew S aTiEviCandidates should
sign the Admit Card/Phatograph only in the presence of the invigliator in the Examination Hall

4 mﬂﬂ?ﬁﬁﬂﬂmwwnmmrﬁmmm#mﬁﬂ:ﬁwm#u'a;muﬂm
ol fear AT & The question paper is in the form of Question Booklet with 75 questions. A separate
OMR shesat is provided for answering the Questions
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1d

11.

12

13

14,

18.

17,

18

mﬁ!::'z ) ®re @ Fvean 3ew o & affomftes wefon o # At S
w iQuestion Booklet series code (A/BICIDIE) printed on the right hand top comer
should be written in the OMR answer sheet in the place provided.

youdt o wgar AR s ) w0 g # e afEv/Candidates should enter their
Mame and Roll Mumbear in 1he Gueston Booklst

HTANT Ieaw qitae 1w wiafeal oy fdied 9t o O # f S aiEvAll entries in the
OMR answer shaet should be with bluefack ball paint pan only.

e oiem wei 2 F e feifia dewar & ame @, aEpE 9§ a9 e g, BeAE
T U {7 BT 1T The written test will be of objective type based on the qualification prascribad for
the post with four answers indicated, of which only one will be unambiguously corract.

et Fr @i 3o wgd 0 AURNT oW gitae # v Wiwegwn Aeies et o o9 ganr
HTANT e & HUsRL Hewy A AR e angel Candidates have to select the right answer by
marking the comesponding oval on the OMR answes sheet by bluafblack ball point pen as per the
insfruchions given in the OMR answer sheat

waT wvw & WU W F PN, 3o A B T aw 36 3 o el A O e ool & Al
questions carry four marks each, rero marks for no answer and ona neégative mark for @ Wrong answer,

OF @ F AT d Iood Iiad 3ood BT ST Multiple answers for a question will be regarded as
awrang answer.

FIUANT & A 3e0e e 3 s oiipr) siEfee soesn o S Er ameamMarking in OMR
may be done with ulmost care. No spare OMR sheet will be provided.

i gl A . AT, AaEe O, Soday Bew, @t Re, saegieen e
i @ AT 7 FeiiComputers, Calculators, mobile phones, reference books, logarithm
tabde, alectronic gadgets eic. will not be allowed inside the Examination Hal,

usw gfige # oW Fap S Al & Bv Sgann B @r #ear HSpace available in the Question
Bookiet can be used for rouigh work,

when 1 Fwen & @z, Fuwwn e W soh s 6 e A & I e 3 ol ol Aqw
st o Rriww ® & wrfge st s seendft & o e DfWon completion of the test,
tear the OMR answer sheet along the perforation mark at the top and hand over the original OMR
answer sheet to the invigilator and retain the duplicate copy with candidates.

i F e ¥ 3 of & Ztoe olmw g@ A ¥ el & ang I & sERT A9 fiCandidates are
nat permitted to leave the Examination Hall during the first one and a half hour of the examination,

st 3 1150 o2 & me ofer gfa & gy o £ 3 me ofEE e A e #®
%iCandidates leaving the examination hall after 1150 hrs will be alowed fo retain the Question Booklet

HET F g, it & svRdr e i v Binrs st 49 9fEwiAfer the Examiration,
candidates should hand over OMR Answer Sheet and Admit Card ta the Invigilator.

B E R
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et dfr (Wex) & 97 & au+ g R gdaw

WRITTEN TEST FOR SELECTIO ST OF TECHNI

V R H BfFEATEE #io7 S19-31 £/ What is the included angle in V Blocks 7

(2] 457 (B} 0"
(c) 1200 d) 60

el Ierll T FAATE T & ST 3UT0T HA-H B2 The tool, which is used for laying out

large circles is

(a) TTH/Trammel by  EEEETDivider

{e) = FITATT Jenny Caliper {d)  FhaEL/Scriber

e 500 T giEr & v gter aifese & Aas S — @99 TR The length of the
hammer handle for a 500 g hammer should be gbowt

@y 275 mm (b 300 mm

f€) 325 mm {d) 350 min

HTH!T—-EI'EH'F‘-IF?E U e aEH ——— 1 FUE 97 FeifE # EFor general purpose, a
bench vice is fixed at a height of

i@ B0em {6} 9 em
(€] 106 cm {d) 125 em

Fr=TafEa & & geus A= 39sgor #1937 &/ Which of the following is a direct mensuring tool

(a) T THAT Try Square (k) FENH F/Steel Rule
(cj ¥ESC USA/Straight Edge () T IFERing Gauge

—_— %W%ﬂ'ﬁm ST &4 BTy square is used to measure

(a) T HI0Macute angle (b)  HHASUTright angle

(e} HTEEHH F0T/obtuse angle (d)  BH W HE Adlnone of these

eI daw WITTFET & YA TS - AT §/The least count of vernier bevel protractor is
fay I’ {b) - 4

@ 10 id) 257
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10.

11.

12.

13.

14,

UF 50-75 mm HETHES AEAERET F 4= UEAE SiE-A % What iz the zero reading of a
30— 75 mm outside micrometer

{a) Q.00 mm b} 0.01 mm
e} 25.00 mm {d} 50,00 mm

Afew I3cAEs ASHARTT B T 952 fidiese ¢ e fre g1am E/Metric outside micrometer
has a threaded spindle with a pitch of

{ay 0.5 mm 1) .25 mm
{g) 1AMl mm {d) 0.05 mm

U FTEHTEET F 0.03mm ¥ AEE i ¥ FE FFEHET 40.48mm T S §HT Ter Tiodis

FAT FIAT &/A micrometer has a negative error of 0.03 mm. What s the correct reading when the
micromeler measires 4048 mm

) 40.15 mm (e} 4051 mm
¢y 4045 mm () 40,59 mm
rERETITE Fﬂ Hﬂﬂﬂ Tl #-“A feeler gange 15 used for

(a) Tl o o0 AT R AT adjusting the parts for play

() #ATEa gt & 9 T Fe/checking gap between mating parts
(c) wirEl & P 9% Fel/checking radius of jobs

(@) Tooelt v ofraEaT A% FLe/checking accuracy of holes

ST ATaT & T TEE & SrgAEeT — ¥ HAR §R1/Go’ side of the plug pauge will have
the dhameter equal to

(a) SArE & FEATAE W actual size of the job

(b) ST & HH HIEIY basic size of the job

() A % FFEH HIET/minimum size of the job

(d) T & WTFTH HER maximum size of the job

fordresor L 3 S5t Fr o A g F e T AL what standard temperature are the

pauges kept in the inspection room

ta} 19°C B 20°C
e} 10°F () 30°F

e g er A 1 g g ¥ The accuracy of a reference gauge is

(a) 005 mm by 01 mm
(e} 0001 mm {d) 00001 mm

4 685 TN(FIT)



15.

16.

17,

18

19.

g 3t Frwamar —— @l @/ Hardness of Slip Gauges should be

(a) 63 TIHHH & FI /more than 63 HRC
(b) 58 TEHEWHVHRC
{c) 55 THHLHIHRC
(dl 30 TEHTHVHRC

HR F & Fan, ey de & R ¥ oy w19 § e avg miae Sas per
Indian Standards, a special set of slip gauge is used consisting of

{a) &1 WUEpieces ik} 112 WUE/ pieces
fc) 120 WS picces {d) 130 @ pieces
SYUT & TR ONET 87— & el The lowest possible rate of feed will give

(a) =3 HdR ﬂﬁmu’gnud surface finish

(b) FETH §0F 9 medium surface finish
(z) oA HoE ISR poor surface finish

s ] 533} #ﬁ’lé AdTinone of the above

TH MI12 x 1.25 95 U UH TH {18 ST HE HTA £11.25 F01 FEse F4aT /A thread M12 x 1.25
isto becut ona M.S. Rod. What does 1.25 denote?

(a) D RraETEidepth of thread

(o) %2 Fr FErdiwidih of thread

ey U8 % Ma = H/pitch diameter of thread
(d) U= & aypitch of thread

MI0 % 1.5 912 57 27vs &0 8§ Fic A F fav 29 B9 g & 3w 521 8O & 399

L)' What will be the size of a tap drill hole to cut M10 x 1.5 thread with & hand fap (Use thumb
rule}

{a 9 mm b} 825mm
{e) 850 mm @) 925mm

g & ier-a e o fove e & ghow Rl o oftaes i amaearsran 58 E/Which one of the

following metals does not require any coolant during reaming?
(a)  HE[ATFTH/Aluminium (b)  HEE HEA/Cast Iron
(o) TEnCopper (d) B/ Steel

5 083 TN(FIT)



21,

22.

23,

24,

25,

8T @y v ﬁﬁﬁﬂ# ¥ fAw TEL sfids Fi=-A7 §/What coolant is recommended for

tapping Copper or Aluminium®?

ta)  eREITEKerosene {=}] A2 Hrrad/ Lard Oil

iy HET A Soda Water () e Dry

e i it Ua we & qot T # E S TH— &Ed &/A hole which is not
made through full depth of the component 1s known as

(a) T B@/core hole by &S EEblind hole

() o7 @/pin hole iy &1 e ibore hole

T TR ¥ Fate A —— 97 HENTA BThe cutting action of a file depends up on

(@) SETe & W U9 ETAT & AT the kind of cut and spacing of teeth
(b) TATE A Eie & f@=E/arangement of teeth on the file

() HTEW & VW UH HIFT size and shape of the file

{d) ﬂﬂ'ﬁﬂ#ﬂa‘al] of the above

eiare 3w & HEw T & el Sard A weed @t — —— &g E/The grooves provided

on the entire length of the body of twist drill are called

(a) ForCHIlips (b)  TECH!flutes
(e} FTTS=H/marging (dy  dEH/webs

& TR & T 2 et we IO H 6/ The double cut file is used for filing on

(3] FISwood by TS &S hard board
e} THINeather (dy  SFATA/Steel

F 6H, T T T8 7% dro A e 8| e e & e HIEAE BT A $6H; hole is to
be reamed in a steel work piece. What size of drill will be required?

{@ S55mm it} 5.8 mm
{c) 6.0mm (dy 62 mm
[ 685 TN(FIT)



27,

28

30.

31.

=i & s & v i g & g s FId E'Which one of the following
materials ks used for making a grinding wheel?

() TEiTeeeT #Tdgs/Silicon Carbide (b)  WTATFE Granite

() Tel/Sand ) HTATATH dEege/Calcium Carbonate

arA=T Fid i v ofEee fEe & Tig FIor §10 &/The point angle of a twist drill for general
purposes is

@y 135% {h] 118°
ey 90° (dy 120°

R B & faw @ At w & O A @A & v s A ouem ———

FEd £/ The process of enlarging the end of an existing hole o aceommaodate the head of socket
screw is called

(a) FOIE FTEIspot-facing by @RI horing

{c) FIFer i counter-boring (b Fr3eT FEf counter-sinking

v fer v wqut witse A St A e S & e F - &/ The distance
a drill advances into the job in one complete revolution is known as

{a) FAAHr.pm (k) e Aifel/cutting speed

(o) HIOTfeed @y AR Afmachine speed

HTOT & BT ——— O A 8/ The rate of feed depends up on

(a)  FTATETT TR finish required

(b) SN E) & gwaltimaterial of tool (dnll)
(o Tow Fe  ArAE material 1o be drilled

ey 2 @afiiall of these

ZHH #q_:ama:mﬁa: #I-TT &/ Which among the following is an artificial abrasive?

(a) MR HEEES/Aluminium Oxide
b} THUEmery

(¢)  BRIDiamond

(d) HREFSACorundum

T 685 TN(FIT)



3.

35

37.

38,

U STE AE FE AR wiohel/A die nut is nothing but

{a) T ST ST STOE & 39T | WiaE/a nut forged by using dies

b} TF AC & W A U 318/ die in the shape of a nut

() STE T & o1 @1 et & fRU UF Aa nut for tightening the die in the die stock

() At St Y T FTe % TR WeT 33 die which is used for cutting threads in nuts

T AT BB —— & AW £/A warding file is similar to

(a) TFETE WIEA olfthet 9218 H TaHEHTEA/ Nat file but uniform in width
(b)  B1eS WISH wishel disrs # \FrThand file but narrow in width
ey T e s waeon  faTEe/ at file but thinner in thickness

(d) TEE FIEW wfdd JEAA & e U9 TFEHEEflat file but thinner and uniform in
(hickness

arsTegar dral 3 TUTAAT S @t 55 § H1e-T £/ Which one of the following bonds is
most commenly used on grinding wheels!

(@) AREESVitrified (b}  TESRubber

ey HrFTE Shellac @  TatedTSilicate

IfamTes deF & U SO F9 3 98 T S0 &The symbol conventionally used for
resinoid bond is

(@ *‘V’ iy "R’
ey ‘B’ @y ‘E’

v HeATATaH wF F = fifarer 3 wie F49 & TU, 5 & FE-H FT HFASF §iFor
cutting an aluminium block to smooth finish. which one of the following cut of file is most
suitable?

{a) T i/ Single cul (b Efn':\‘ Fe/ [ouble cut
fc) T FIE/Rasp cut i) E‘_c_rhﬂ &I eircular cut

o s T, U Fhe ST & S e @Yt B/How does a hand reamer differ from a machine
reatmer’

{a}) Tl il & ﬁl’qﬁﬁﬂﬁﬂ w5 larger bevel lead for the cutting edges

(b) AT AT T e TEAmore number of cutting teeth

() FA a1 o e T8O less number of cutting teeth

(dy Hele T ¥ A Ho{unequal spacing of cutting edges

5 685 TN(FIT)



39,

40.

41.

42,

43,

weR AT di5 O oee FT &/What is bursting of a grinding wheel?

(a) S=H Bl H ge et B yoaiE d9 G187 A7 S0 £/ Abrasive graing falling out of wheel
before they are dulled

(b) T 3T &1 & Tt A6l &/ The wheel is not properly balanced

() g mftas wof & 0% waw F FEOUE GeE tavd PR S eiClogging of
whee] face with small metal particles being ground

(dy T Il e & Sate aredt genEEE 7 URRT The act of restoring the cutting faces of
a grinding wheel

rsfes & a5 g% O # Il arrd @9 57 FE07 2197 &/'What is the reason for chaitering
miarks on work piece after grinding
@y oA efEs Insufficient coolam

by A T U9 = gl & da wie 9T Too much friction between work surface and
wheel face
() dred FEafess & 99/ Vibration on wheel spindle

dy @ F TR I Improper dressing of wheel

fo 207%™ og e 20 VR 0N e & Aioa R FEIETEE The maximum clearance between
hole 20'** and shaft 20" %7 "9 is

@y 0.165 mm (b 0.155 mm
(€l  0.175 mm (d) 0.185 mm

o AT & T 25000 & w9 A wiPeasa e E IEga Fr Ber #/ A dimension is stated

as 25+0.03 mm in a drawing. What is the tolcrance”

@y HL.09mm {4} 4003 mm

) HLOGmm (di =0.03 mm

AT Had afiEeeias ——— & 90 uge 29 §nterchangeability is normally
applied for

(a) Gl & FTFH & AT Repairing of parts

(b) HIH =/ Mass Production

¢y THIE drE ATEFI/Single piece production
i) I TIAL of these

9 685 TN(FIT)



43,

46,

47.

48,

49.

BT &8 8= H d/1n hole basis system

{a) TS T HARIT TFUT &7 £ The size of the shaft is made constant
) T o menrT TRuT #16T BThe size of the hole is made constant

ey g T oo & B o 3T GEUANThe permissible tolerances are given on the hole and
the shaft
(@ 907 FO B & MRy BT FET Bl Allowance is given only on the whole

e Fﬂﬁ-ﬁ*‘ﬂ;ﬂ' CAG !.‘Tl'u: value of one micro-inch s

(ay  0.0000017 by D.OO0001"
(e} DOBOIT fdy 0001

faataraa & & waras & g gTieer 7eler &1 o= -8 8/Which one of the following is

the movement of the honing machine during operation’?

{a) S Horizontal

(b} FEETT Vertical

(&) WoOEmH Reciprocating

() FeaTeT o gEmTET Vertical and reciprocating

fPTToaT # & A A5 & A0 ggEd J9edor S EWhich one of the following
abrasives is used for lapping pauges?

(a) AR AR Aluminium Oxide (b)  TRTETT FEEs/Silicon Carbide

{c)  BRVDiamond {9y  FRIA FEES/Boron Carbide

W — ﬁmng B/Brass is an alloy of

{a) Ehﬁﬁﬂ'fﬂﬂppﬂ and Tin by o= U R/ Lead and Tin

(&7 T va TR/ Copper and Zinc ) FET T FAEET Copper and Silver

TE T9 F v & e By & R swe el oREtda w1 e Rt

TUH F FAA o # & /Which one of the following properties of o metal has the ability to
change its shape without destruction under the influence of external forees

(a) CEITECHT Plasticity by  WEOEOETElasticity
(o) Gre/Stiffness Wy FTETAEEAATMalleability
10 685 TN(FIT)
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al.

52.

53,

54,

56.

FHT F9IR TaTe % EaRT 39T # Headr e b T ST WA B SR ——
&/The toughness in a steel is mcreased and brittleness is decreased by a heat treatment operation
called as

{a) I Annealing () FHETEET Normalizing
(e}  ETR Tempering () & FEFACase hardening

rHUHTE AT e weeer — EIAT B/ Approximate hardness of HSS mil ling cutter is

{3) 45 HR{ (b} 32HRC
{c) 62 HRC (@ TSHRC

mﬂmgﬁ#ﬁvqﬁﬁﬁﬂﬂﬁmﬁmﬁﬁaﬁ#ﬁ-mﬁmﬁim one of the

following quenching media is used for hardening HSS 1ool?
(@) oI Water by & AT Brine Solution
ey S0 (@) HIET A Soda Water

mﬁnwﬁm#aﬁ,ﬁqmﬁmmtaﬂr&m Al §/After hardening

process, the metal becomes more hardened and also will become more
(8)  HUBrile (b) AT Dructile
(e} FTENEEHT/ Malleable (d)  HEETough

e Aew wrd 3aa e el I FEaT B FASheet metal work is carried out only on metal sheets,
which are

fa) AT Elforged b)) T Blcast

& e Erolled () FFeafia Eextruded
HIoE H AT LEl &/Mallet is made of

{a) WTlead {b) dTH/ Brass

(c) T8 gHard wood (d)  TEC HTT/Cast Iron

58 T & v Fed W w Feufa sta-ah o/ The position in which it is easiest to weld is

(al  HAIAFlat by  FEELE Vertical
(e SIS Horizomal (d)  FTVOverhead

11 685 TN(FIT)



Ry R S T . «

57.

58,

59,

61.

62.

0.03% + 0.02 = 0.02% — 0.06; Athen x =

fay (.08 (b -5
ey 08 (d) 0.8

40mm ¥ e & v e f6mm & FohiEa sar Fewar & FdTEa % 6/ A spring of 40mm

free length is compressed 1o 16mm. Find the compression of the spring in %

ial i (k) 40%
ey 6% (@) 6%

$00 x 1400 mm & T ST THE 1:20 % Fhel 7 3@ FEE 1 3oy fy Farsal 1
BATA steel plate of §00 x 1400 mm is 1o be drawn to a scale of 1:20. What will be the lengths in
the drawing?

(a)  dmm;Tmim (b} TOmm:dimm
fcy  40mm;T0mm {d} T dmumn

ﬁaﬁﬁﬂmgﬁmﬁﬁmﬂﬂ:ﬁvmﬂﬁﬁmwhﬁﬁﬁﬁmga‘fa?nﬁ?fmﬂ:
Fyu Ty P 30T &Two turners need three days to produce 20 pieces. How long does it

take for six turner to produce 30 such picces?

{a) L5 )] 2
(e} 1 dy 4

T T FirE I Fa9r8 F 10cm i & 3ty e AT 60em §1 3T H7 AtEg gdiThe

width of a rectangle is 10 em less than its length, and its perimeter is 6} cm. Find the width of the
rectangle.

{a} 10cm by 15cm
(] 20cm {d) S5em
U AT F OHETAA 792 Tee UG B — ﬁi’-‘"l?'ll’mﬂ volume of a sphere 18
792/ 7cc. The radius of the sphere will be
(@) Yom b Ioem
ey Gem {dy W7 om
e wfe Aue Fedl w1 e ———— g, Torga g 15 $1The produet of three
consecutive odd numbers whose sum s 13
(@ 120 (o 150
() 125 (d) 105
12 685 TN(FIT)



B7.

150mm =0 ¥ TF Tt 1440mpm # afdd v Aet wde 7 20f9d H3a §1 2400mm
# ofad v mese d@e A awitae qor & som FuiE FUA pulley of 150mm

diameter mounted on to o motor shaft runs at 1440 rpm.  Determine the dismeter of the pulley
connected to a grinding wheel which runs at 240 rpim

{a) 200 mm by 45 mm
i) 80 mm (d) 90 mm

Sin'6 + Cos’® & FFE §/The value of Sin'® + Cos'8 is

@ 0 b1 Sin’20
ey -1 @ 1

S1 gfAE & a9 ¥ I F YT The unit of moment of force in 81 unit is

(a) FYTA HIZT/Newton metre b}  Kpem
fey Kigm (dy FHEHA AT Newton centimetre

iz &1 wa=ar & gofsmer i The density of a body is defined as

{a) q“ﬁ-‘rz a9 Fo/Force per unit volume

(b) TFE HOTA T ZeTHE Mass per unit volume

() GfFE HIE 9 ETd/Pressure per unit volume

(d) q:ﬁ'lzalmﬂ?rﬁ TATOT/ Acceleration per unit volume

o Hoer Hefer & aifae s i 9ftEmer #/The mechanical advantage in a simple machine is
defined as

(a) WATA/eftort TS/ oad

(b) T work/ I e o

fe)  wiEload AT effort

(d) waTH ZanT afer Zdl/distance moved by cffort

Eﬂﬁ!ﬁm T —— & T B/ The atmosphere pressure is equal to
{a) 1har () 10 Kglem®
e} 9.81N (d) 100 N

13




70,

7.

72.

73

74,

75.

qr —— % gfigdas &1 87 &/Velocity is the rate of change of
{a) ®WA'torce iy FEmOEDisplacement

() AN Viscosity {d)  TETacceleration

ofe R R ¥ oy oF B A & Ao varfea &an § A 36w GHe ST R chip is
flowing out continuously through one lip only duning drilling, the possible reason is:

fa) AT FAT HIOT Uncgual lip angle

(b) FEH ﬁﬁﬂﬁ'ﬂﬁl’-ﬁxuaﬁivc point angle

(¢) FEA FOLH ST Unequal clearance angle

(d) Ferer FroT AE Y AT e & HET  @Cutting angle is not according Lo the metal
betng drilled.

AT e 7 & @1 2mm Fea 0f3 & gea Be & JOfvs 70T 4, Fiat=aa &
AT a3 O S0m/min B/Calculate the RPM for a high speed steel drill ©12mm to cut

Alumintum. The cutting speed for Aluminium is S0m/min.

fa) 332 rpm =} 4163 rpm

€y 1326 rpm () 663 rpm

AEEEET T — 9iRaT B/Nitriding is a process of

(a) FEHT ITAH/Heat treatment (by  FHTET Anncaling

(c) BT Hardening (d) T BRI/ Case hardening

Sin 60° #ﬂﬁ ®/The value of Sin 60° is

@ 0.707 by 0.866

ey 0.5 id) 0

TR x =0 & y =52 @ x*+2xy+? F HFT L« = 0 & y = 5/2, Find the value of '+ 2xy+y”

(a) 45/4 i) 252
fe) 254 (el 10

14 685 TN(FIT)



